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e Question No.1

Which of the following Section of IPC is based upon the maxim de minimis non curat lex ?
Options:

1.5.80
2.5.83
3.5.94
4.5.95

5.

Answer : S. 95

e Question No.2
The Principle of assessment of damages for breach of contract is given in :
Options:

1. King V. Horr

2. Hyde v. Wrench
3.Scarf V. Zodine

4. Hadley V. Baxendale

5.

Answer : Hadley V. Baxendale

e Question No. 3
Which of the following provisions of CP.C is related with the amendment of pleading ?
Options:

1. Order VI rule 14

2. Order VI rule 15
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3. Order Vl rule 16
4. Order Vl rule 17

5.

Answer : Order VIl rule 17

e Question No. 4
Which of the following statement is not correct ?
Options:

1. Minor's contract is voidable

2. Agreement caused by under influence is voidable
3. Agreement in restraint of marriage is void

4. Wagering agreement is void

5.

Answer : Minor&#039;s contract is voidable

e Question No. 5
Rejection of plaint is mentioned under :
Options:

1. Order Vil rule 1
2. Order VI rule 13
3. Order Vil rule 12
4. Order Vlll rule 4

5.

Answer : Order VIl rule 1

e Question No. 6

Which of the following statement is correct about '‘Document' as defined in Indian Penal Code?
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Options:

1. This is similar to the definition of document as defined in Evidence Act

2. This is not similar to the definition of 'document' as defined in Evidence Act

3. This is defined under section 28 of IPC
4. This is defined under section 27 of IPC

5.

Answer : This is similar to the definition of document as defined in Evidence Act

e Question No.7

In which of the following case the supreme court has declared S. 303 of IPC as unconstitutional?

Options:

1. Bachchan Singh V. State of punjab
2. Rajendra Kr V. State of U.P

3. Machchi Singh V. State of Punjab
4. Mitthu Singh V. State of Punjab

5.

Answer : Mitthu Singh V. State of Punjab

e Question No. 8

Application for anticipatory bail may be made before:

Options:

1. Session Court

2. High Court

3. Chief Judicial Magistrate
4. Both (A) and (B)

5.

Answer : Both (A) and (B)
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e Question No.9

Warrant-case means a case relating to an offence punishable with :
Options:

1. Upto one year imprisonment

2. Upto two year imprisonment

3. More than two year imprisonment
4. None of the above

5.

Answer : More than two year imprisonment

e Question No.10
Under section 31 of sale of Goods Act, 1930 the seller has a duty :
Options:

1. to show the goods
2. to deliver goods

3. to change the goods
4. none of the above

5.

Answer : to deliver goods

e Question No. 1
The Headquarter of New Development Bank is located at :
Options:

1. Tokyo
2. New Delhi

3. Moscow

ixam
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4. Shanghai

5.

Answer : Shanghai

e Question No. 12
Which of the following statement is correct about Evidence Act ?
Options:

1. Confession applies to both civil and criminal proceeding

2. Hostile witness is defined in S.154 of Evidence Act

3. Principle of estoppel applies in civil proceeding only

4. Evidence of good character in criminal cases are not relevant

5.

Answer : Principle of estoppel applies in civil proceeding only

e Question No. 13
Which of the following does not come under the definition of 'decree' ?
Options:

1. An adjudication which conclusively determines the rights of the parties with regard to some of the
matters in issue before the court

2. Rejection of a plaint

3. Determination of any question under section 144 of C.P.C.

4. Dismissal of suit for default

5.

Answer : Dismissal of suit for default

e Question No. 14

S.10 of evidence Act support the statement that :
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Options:

1. Possession is prima facie evidence of ownership
2. Possession is nine point of ownership

3. Ownership is planery control over a thing

4. None of the above

5.

Answer : Possession is prima facie evidence of ownership

e Question No. 15

Which of the following section of C.P.C. prohibit the arrest of women in the execution of a decree for money ?
Options:

1.5.56
2.8.57
3.5.58
4.5.59

5.

Answer : S.56

e Question No. 16
Muta marriage is recognised by
Options:

1. Hanafi school

2. Maliki school

3. Ithana Ashari school
4. Hanbali school

5.

Answer : Ithana Ashari school
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e Question No. 17
Which of the following is not the official language of the United Nations ?
Options:

1. German
2. Arabic

3. Russian
4. Spanish

5.

Answer : German

e Question No.18
Muta marriage could not be dissolved :
Options:

1. Ipso facto by the efflux of the period
2. By death

3. By divorce

4. By Hiba-i-Mudat

5.

Answer : By Hiba-i-Mudat

e Question No.19
Which of the following section of Evidence Act is related with the admissibility of Electronic record ?
Options:

1. S.65A
2.5.65B

3.S.67A
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4.S81A

Answer : S.65B

e Question No. 20

The power of supreme court to transfer cases and appeals from one High Court to another High Court can be

exercised on an application by :
Options:

1. Registrar of High Court Concerned
2. Attorney General of India

3. Solicitor General of India

4. Advocate General

5.

Answer : Attorney General of India

e Question No. 21
The case of Kashmira Singh V. State of M.P. Is related to
Options:

1. Evidence of accomplice
2. Evidence of Co-accused
3. Evidence of Conspirator
4. Admission

5.

Answer : Evidence of Co-accused

e Question No. 22

In which of the following section of sale of Goods Act, 1930 'Unpaid seller' is defined ?
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Options:

1. Sec.45
2.Sec.46
3.Sec.47
4.Sec48

5.

Answer : Sec.45

e Question No. 23

Which of the following section of The Partnership act, 1932 defines 'business'?
Options:

1. Sec.2(a)
2.Sec.2(b)
3. Sec.2(c)
4. Sec.2(d)

5.

Answer : Sec.2(b)

e Question No. 24

Which of the following section of Cr.p.C. provides for the requirement of confirmation by the High Court of an order

of death sentence passed by session court ?
Options:

1. 5.366
2.5.367
3.5.368
4.5.369

5.



Answer : S.366

e Question No. 25
Privity of Contract means :
Options:

1. Only parties to the contract can sue on it

2. Main object of the contract must be maintained
3. Parties must maintain the privacy of contract

4. None of these

5.

Answer : Only parties to the contract can sue on it

e Question No. 26
The case of R v. Dudley and stephen is related to the defence of :
Options:

1. Insanity

2. Necessity
3. Accident

4. Intoxication

5.

Answer : Necessity

e Question No. 27
Match the correct option
Options:

1. Harbouring the offender - S.211
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2. Public Nuisance - S.267
3. Counterfeiting coin - $.230
4. Criminal tresspass - S.441

5.

Answer : Criminal tresspass - S.441

e Question No. 28
Under order 8 rule 6 C.P.C. set-off may be permitted if
Options:

1. The suit is for recovery of property
2. Set-off claimed by the defendant is ascertained sum of money
3. Value of property recoverable is less than rupees two lacs

4. Defendant present a written statement of account at any stage of hearing of the suit

5.

Answer : Set-off claimed by the defendant is ascertained sum of money

e Question No. 29
Kaziranga is known for :
Options:

1. Rhinoceros
2. Lion

3. Bird

4. Elephant

5.

Answer : Rhinoceros

e Question No. 30
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Which of the following section of IPC deals with the act not intended to cause death done by consent in good faith

for person's benefit ?
Options:

1.5.87

2.5.88
3.5.89
4.5.90

5.

Answer : S.88

e Question No. 31
The Nanda Devi peak is located in :
Options:

1. Uttarakhand

2. Himachal pradesh

3. Sikkim

4. Jammu and Kashmir

5.

Answer : Uttarakhand

e Question No. 32
A proposal when accepted becomes :
Options:

1. a contract
2.an agreement
3.a promise

4. none of these
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Answer : a promise

e Question No. 33

Which of the following is a constitutional body ?
Options:

1. National Commission for women
2. National Human right Commission
3. Minority Commission

4. Finance Commission

5.

Answer : Finance Commission

e Question No. 34

Which of the following provision of Cr.P.C empowers the magistrate to visit and inspect any place in Which the

offence is alleged to have been committed ?
Options:

1.5.310
2.5.3M
3.8.312
4.5313

5.

Answer : S.310

e Question No. 35

When two or more persons are fighting in a public place and disturbing the public peace, they have committed the

offence of:
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Options:

1. Affray

2. Rioting

3. Criminal force

4. Criminal intimidation

5.

Answer : Affray

e Question No. 36

The maximum period for which a magistrate may send the arrested person in police custody is :
Options:

1.14 days
2.15 days
3.60 days
4. 90 days

5.

Answer : 15 days

e Question No. 37

The procedure for summary trial is provided in the following sections of Cr.P.C:
Options:

1. Sec. 251 to 259

2. Sec. 238 to 250
3. Sec. 260 to 265
4. Sec. 266 to 270

5.

Answer : Sec. 260 to 265
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e Question No. 38
Which of the following is not an exception to the general principle that ‘hearsay evidence is no evidence’?
Options:

1. Res gestae
2. Admission
3. Confession
4. Expert Opinion

5.

Answer : Expert Opinion

e Question No. 39
What is the maximum period under S.110 of Cr.P.C for furnishing security prescribed for keeping good behavior ?
Options:

1.5 months
2.1year
3.2 years
4.3 years

5.

Answer : 3 years

e Question No. 40

Under Cr.P.C if a women sentenced to death is found to be pregnant her death sentence may be commuted to

imprisonment for life by the :
Options:

1. President

2. Governor



3. Central or State Government
4. High Court

5.

Answer : High Court

e Question No. 41

Indian Evidence Act, 1872 was enforced on :

Options:

1.15th March 1872
2.25th March 1872
3.1st September 1872
4. 25th September 1872

5.

Answer : 1st September 1872

e Question No. 42

Which of the following is not an essential of partnership ?

Options:

1. An association of two or more persons
2. Existence of contract

3. Sharing of profit

4. Mandatory Registration

5.

Answer : Mandatory Registration

e Question No. 43

The case of Mohd. Ahmad Khan V. Shah Bano Begum is related with :
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Options:

1. Anticipatory Bail
2. Maintenance

3. Appeal

4. Arrest

5.

Answer : Maintenance

e Question No. 44
Break down theory of divorce is reflected in:
Options:

1. Sec13(1) of Hindu Marriage Act, 1955
2. Sec.13(2) of Hindu Marriage Act, 1955
3. Sec.13(1A) of Hindu Marriage Act, 1955
4. Sec.13(B) of Hindu Marriage Act, 1955

5.

Answer : Sec13(1A) of Hindu Marriage Act, 1955

¢ Question No. 45
Which of the following is not mentioned under S. 14 of evidence Act as fact showing the state of mind ?
Options:

1. Good-faith
2. ill-will

3. Rashness
4. Motive

5.

Answer : Motive
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e Question No. 46

A attempts to pull Z's nose, Z in the exercise of the right of private defence, lays hold of A to prevent him from

doing so. A is moved to sudden and violent passion in consequence, and kills Z. Which offence has A committed.
Options:

1. Murder

2. Culpable homicide

3. No offence because A has acted | under sudden and grave provocation
4. Death causing by negligence

5.

Answer : Murder

e Question No. 47
Which of the following section of Cr.P.C is related with the treatment of Victims of acid attack ?
Options:

1. Sec. 357 A
2.Sec. 357 B
3.Sec. 357 C
4. None of these

5.

Answer : Sec. 357 C

e Question No. 48
Which of the folbwing section of Cr. P.C is related with the withdrawal of prosecution ?
Options:

1.5.319

2.5.320
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3.S.321
4.5.322
5.

Answer : S.321

e Question No. 49
The case of Hochester V. De La Tour deals with
Options:

1. Quasi-contract

2. Promissory estoppel

3. Anticipatory Breach of Contract
4. Quantum meruit

5.

Answer : Anticipatory Breach of Contract

e Question No. 50
How many sustainable development Goals were set by UNDP in the year 2016 ?
Options:

1.15
2.16
3.17

4.18

Answer : 17

e Question No. 51
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In which of the following case it was held that a contract through telephone is concluded at the place where

acceptance is heard ?
Options:

1. Bhagwandas V. Girdhari lal

2. Lal man Shukla V. Gauri dutt

3. Carlill V. Carbolic smoke ball Co.
4. Satyabrata Ghose V. Mungni Ram

5.

Answer : Bhagwandas V. Girdhari lal

e Question No. 52
Which of the following court can try summarily offences mentioned in Sec. 260 of Cr. PC ?
Options:

1. Chief Judicial Magistrate

2. Metropolitan Magistrate

3. Any Magistrate of first class specially empowered by High Court
4. All the above

5.

Answer : All the above

e Question No. 53
Section 114 of C.P.C. should be read with
Options:

1. Order 46 rule 1
2. Order 47 rule 1
3. Order 49 rule 3

4, Order /1



0D
ixam Pees @

Answer : Order 47 rule 1

e Question No. 54

Change in the nature of the obligation in a contract is known as :
Options:

1. Alteration
2. Renovation
3. Rescission
4. Novation

5.

Answer : Novation

e Question No. 55

Which of the following foilowing section of Indian Partnership Act, 1932 is related with the expulsion of a partner ?
Options:

1. Sec.30
2.Sec31
3.Sec.32
4.Sec33

5.

Answer : Sec.33

e Question No. 56

By which of the following way Muslim marriage can be dissolved by a Muslim husband ?

Options:
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1. Talag

2. 1lla

3. Zihar

4. All of these

5.

Answer : All of these

e Question No. 57
'Khula' is a form of divorce by :
Options:

1. Sale

2. Purchase
3. Agreement
4. Coercion

5.

Answer : Purchase

e Question No. 58
Which of the following is correct about plea bargaining ?
Options:

1. It is not applicable for the offenses for which the punishment is more than seven years

2. It is applicable for all the offences except the offence for which punishment is death sentence

3.1t is applicable for all the offences except the offences for which punishment is death sentence or life
imprisonment

4. None of these

5.

Answer : It is not applicable for the offenses for which the punishment is more than seven years



e Question No. 59

Promises which form the consideration or part of the consideration for each other, are called:

Options:

1. Agreement

2. Contract

3. Reciprocal promise
4. Proposal

5.

Answer : Reciprocal promise

e Question No. 60
An offer and acceptance to it must be in the :
Options:

1. Same time

2. Same place

3. Same sense

4. Same time and same place

5.

Answer : Same sense

e Question No. 61
Adultery by a Hindu Husband is a:
Options:

1. Ground of divorce
2. Not a ground of divorce

3. Not a ground of judicial separation

ixam
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4. None of the above

5.

Answer : Ground of divorce

e Question No. 62

An agreement made without free consent is:
Options:

1. Always void

2. Always voidable

3. Either void or voidable
4. Unlawful

5.

Answer : Either void or voidable

e Question No. 63
Which of the following offence is not compoundable ?
Options:

1. Offence U/S 323 of IPC
2. Offence U/S 334 of IPC
3. Offence U/S 307 of IPC

4, Offence U/S 979 of IPC
5.

Answer : Offence U/S 307 of IPC
e Question No. 64

A, knowing the B has committed dacoity, knowingly conceals B in order to save him from legal punishment which

offence has A committed ?
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Options:

1. Conspiracy

2. Abetment by aid
3. Harbouring

4. None of these

5.

Answer : Harbouring

e Question No. 65

A agrees to pay B 1000/- rupee if two straight lines should enclose a space.
Options:

1. This agreement is void

2. This contract is void

3. This is contingent contract

4. This is valid contract

5.

Answer : This agreement is void

e Question No. 66

Which of the following section of Cr.P.C is related with the legal aid to accused at state expense ?

Options:

1. Sec. 304
2.Sec. 305
3.Sec. 306
4. Sec. 307

5.

Answer : Sec. 304
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e Question No. 67

Private person may arrest any person who in his presence commits ?

Options:

1. Non bailable and non cognizable offence
2. Bailable and Cognizable offence

3. Bailable and Non Cognizable offence

4. Non bailable and Cognizable offence

5.

Answer : Non bailable and Cognizable offence

e Question No. 68

The maximum period of solitary confinement which may be ordered by the court is :

Options:

1. One month

2. Two months
3. Three months
4. Six months

5.

Answer : Three months

e Question No. 69

Which of the following section of Cr. p.C is related with the inherent power of High Court ?

Options:

1.5.482
2.5.483

3.5.484
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4.5.485

Answer : S.482

e Question No.70

Which of the following is not correctly matched ?

Options:

1. Arrest by private person - S.42

2. Arrest by magistrate - S.44

3. Arrest how made - S.46

4. Arrest by police without warrant - S.41

5.

Answer : Arrest by private person - S.42

e Question No. 71

A partner by holding out is :

Options:

1. a partner to arrange the capital for the firm

2. a partner to share in profit of firm

3. a person liable for the loss of the firm

4. a person liable to another who incurs liability believing him as a partner

5.

Answer : a person liable to another who incurs liability believing him as a partner

e Question No. 72

Which of the following state has a bicameral legislature ?
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Options:

1. Madhya pradesh

2. Kerala

3. Jammu & Kashmir (repudiated by The Jammu and Kashmir Reorganisation Act, 2019)
4. Assam

5.

Answer : Jammu &amp; Kashmir (repudiated by The Jammu and Kashmir Reorganisation Act, 2019)

e Question No. 73

A minor may be admitted to the benefit of a partnership firm :

Options:

1. with the consent of all existing partners
2. With the consent of majority of partners
3. By inheritance under a will

4. By the direction of the court

5.

Answer : with the consent of all existing partners

e Question No.74

Which of the following statements is incorrect about the second appeal ?

Options:

1. It may lie in any court

2. It may lie against ex-parte decree

3. It may lie in case where the substantial question of law involves
4. All the above

5.

Answer : It may lie in any court
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e Question No. 75
At which of the following place did Mahatma Gandhi first started his satyagraha in India ?
Options:

1. Ahmedabad
2. ChamParan
3. Bardoli
4. Kheda

5.

Answer : ChamParan

e Question No. 76
Which of the following statement is correct?
Options:

1. Every agency is partnership

2. Every partnership is agency

3. Every partnership is limited company

4. Every private limited company is partnership

5.

Answer : Every partnership is agency

e Question No. 77
A confession made under Sec. 164 of Cr.P.C can be recorded by a Magistrate during the course of :
Options:

1. Trial
2. Investigation

3. Trial or investigation
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4. Investigation, but before the commencement of inquiry or Trial

5.

Answer : Investigation, but before the commencement of inquiry or Trial

e Question No.78

The period of Limitation within which dependent shall submit his written statement is ordinarily within:

Options:

1. 60 days from service of summon
2.90 days from service of summon
3.15 days from service of summon
4.30 days from service of summon or 90 days if allowed by the court

5.

Answer : 30 days from service of summon or 90 days if allowed by the court

e Question No. 79

Which of the following pairs does not match ?

Options:

1. Novation of contract - S. 64

2. Wagering agreement - S. 30

3. Anticipatory breach - S. 39

4. Agreement on the happening of impossible event - S. 36

5.

Answer : Novation of contract - S. 64

e Question No. 80

A muslim wife can relinquish her Mahr :
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Options:

1. When she is minor
2. When she has attained the age of puberty
3. When she is not less than 18 years of age

4. When she is not less than 21 years of age

5.

Answer : When she is not less than 18 years of age

e Question No. 81

There shall be no appeal by a convicted person where the High Court passes a sentence of imprisonment for a term

not exceeding :
Options:

1. Six months
2. Nine months
3.One year

4. Two years

D;

Answer : Six months

e Question No. 82

Under Sec.6 of Hindu Minority and Guardianship Act 1956 the natural guardian of a minor child is :
Options:

1. Mother
2. Father
3. Both Mother and Father
4. Either Mother or Father

5.



Answer : Father

e Question No. 83

Which of the following country is not included in BRICS ?

Options:

1. Brazil

2. Russia
3.India

4. Canada

5.

Answer : Canada

e Question No. 84

Which of the following section of Evidence Act is related with accomplice ?

Options:

1.5.133
2.5.30
3.5.154
4.5.145

5.

Answer : S133

e Question No. 85

In criminal cases fact in issue includes :

Options:

1. Filing of chargesheet by the Investigating officer
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2. Framing of charge by the Magistrate
3. FIR report
4. All the above

5.

Answer : Framing of charge by the Magistrate

e Question No. 86

Which of the following disease is not caused by polluted water?

Options:

1. Dysentery

2. Jaundice

3. Typhoid

4. Tuberculosis

5.

Answer : Tuberculosis

e Question No. 87

Order XXI of C.P.C.is related with :

Options:

1. Affidavits

2. Costs

3. Execution of decree

4. Appointment of receiver

5.

Answer : Execution of decree

e Question No. 88
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Who among the following is not entitled to claim maintenance under section 125 of Cr.P.c?
Options:

1. Unmarried sister

2. Adopted mother

3. Divorced wife who does not remarry
4. lllegitimate minor child

5.

Answer : Unmarried sister

e Question No. 89

Which of the following section of Evidence Act is related with the refreshing the memory?
Options:

1. 5157
2.5.158
3.5.159
4.5.160

5.

Answer : S.159

e Question No. 90
A civil court can not issue commission in the following case :
Options:

1. For examining a Person
2. For examining accounts
3. To execute Partition

4. To execute a decree

5.
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Answer : To execute a decree

e Question No. 91
Children born to annulled voidable marriages or void marriages under section 11 and 12 of Hindu Marriage Act are :
Options:

1. lllegitimate

2. lllegitimate but can inherit the property of their Parents
3. Legitimate and can inherit all family property

4. Legitimate but can inherit only the property

5.

Answer : Legitimate but can inherit only the property

e Question No. 92
Choose the word which is most nearly the same as the word ARDUOUS ?
Options:

1. Difficult

2. Different
3. Hazardous
4. Funny

5.

Answer : Difficult

e Question No. 93
Choose the word which is the opposite of the word ABET?
Options:

1. Aid



2. Pecify
3. Risky
4. Prevent

5.

Answer : Prevent

e Question No. 94

Which of the following is the oldest mountain range in India ?

Options:

1. Himalaya
2. Aravali
3. Satpura
4. Nilgiri

5.

Answer : Aravali

e Question No. 95

The Tropic of cancer passes through which one of the following states ?

Options:

1. Jharkhand

2. Bihar

3. Jammu and Kashmir
4. Himachal Pradesh

5.

Answer : Jharkhand

e Question No. 96
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Which of the following words spelt correctly ?
Options:

1. Faxsimile
2. Fashsimile
3. Facsimile
4. Factsimile

5.

Answer : Facsimile

e Question No. 97
Find the best answer
The _____ of the state is efficient

Options:

1. Administration
2. Democracy

3. Policy

4. Autocracy

5.

Answer : Administration

e Question No. 98

One who possesses many talents ?

Options:

1. Nubile
2. Exceptional

3. Versatile

ixam
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4. Gifted
5.

Answer : Versatile

e Question No. 99
Extreme old age when a man behaves like a child is called :
Options:

1. Imbecility

2. Dotage

3. Senility

4. Superannuation

5.

Answer : Dotage

e Question No. 100
Select the pair which has the same relationship as Indigent : Wealthy
Options:

1. Angry : Rich

2. Native : Affluent
3. Gauche : Graceful
4. Scholarly : Erudite

5.

Answer : Gauche : Graceful
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